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Question 1 :  
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Question 2 : 

 

Question 3 : 
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Question 4 : 
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Question 5 : 

 

Question 6:  
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Question 7 : 

 

Question 8 : 

 

Y :  deoxyribose                    Z :  phosphate  

 

 W : guanine                X: thymine  
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Question 9 : 

 

 

 

 

 

 

 

A shows semi - conservative replication / half of the new double helix contains 

original DNA while half contains new DNA .  

Question 10 : 
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Question 11 : 

 

Question 12 : 
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Question 13 :  

Describe the process of transcription . 

Transcription is the copying of a DNA sequence to make mRNA, using the 

catalyst RNA polymerase  ( it occurs in the nucleus ) 

It involves the following stages: 

1. RNA polymerase uncoils a section (gene) of the DNA double helix. 

2. RNA polymerase links free RNA nucleotides to form an RNA strand (using a 

DNA strand as a template). This is done through complementary base pairing, 

however, in the RNA chain, the base thymine is replaced by uracil. 

3. The mRNA strand then elongates and separates from the DNA template. 

4. The DNA strands then reform a double helix. 

5. The mRNA leaves the nucleus and moves out through the pores on the 

nuclear membrane. 

 

Question 14 : 

Compare and contrast mRNA and tRNA. 

Both contain RNA mono nucleotides / ribose sugar / uracil , adenine ,cytosine 

,guanine . 

Both are single stranded  

Differences :       mRNA                            tRNA 

                        Straight chain                   folded  

                          Has codons                     anti codon  
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Question 15 : 

The diagram shows part of a mRNA base sequence 

 

a. Give the sequence of the first six bases of the DNA that was transcribed 

to give this mRNA sequence . 

 

         TACGAT 

 

b. Give the maximum number of amino acids that would be in the part of 

the polypeptide chain  produced from this mRNA base sequence . 

7 seven  

c. Give the maximum number of different tRNA molecules that would be 

needed to produce the polypeptide chain produced from this base 

sequence . 

5 five  

 


